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PART-A/1'PT--3l 
1. Define the following -

Pli.:tR:tfaa cf>)- c6lRitt:: -

(i) Positive analysis 

~--tlfflcf> ~~cltfOI 

(ii) Elasticity of demand 

co 1TT1T cGr ,..._ 
lO (iii) Producer surplus .· ,. ' \iNIGcf> <tft tiiffl 

, 
(iv) Budget~e 

iwfcfflf 

(v) Price consumption curve 

c6t ' 'id \iQ''11•I qs:f> 

(vi) Income effect 

aml~ 
.a:> r--. 
t0· (vii) Economies of scale 
it"-

--t8 _¢.{ '.)1%-~ffi}.;~. -- .- ......_ ..... -- ...... 

3. 

(viii) lsoquantcurve 

'(iJ.t~cQIG c8P 

(ix) Oligopoly 

(x) Price discrimination 

<Gli:ta ~<flct>-<01 • 

PART-B/~-'if 

What are the tl_lree pr<;>blems Qf an economic system? 

MU.U6'fi cjft tt•H~lq <fflT ~? 

Discuss the properties of an indifference curve. 

qft fcrflttdl31T ctfr c61Rit'{ I 

4. Why is the long run average cost curve also known as the 'planning curve' and an 'envelope curve'? 

cf\EhtH~ ... 31Rffl, cli•ld cm> 'cf>T 'R;f Q>jQ>j cffl> ·Pt~,Gt~ cm;' <tm q;gr \jf@'f ~? 

S. State the main features of a monopoly market. 

csll\iil'< ctJ fcrflttdl3IT _q;J. G~(§ ~ftil~ I 
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t I 1 b 

PART-C/1frlT-"fl . 

UNIT- 1/&cf>l_i-l 

6. What is meant by Law of Demand? What are tQe various ~eterminants of deµiand? 

c1> ~"fl~ 3lfmmf t? 1TT1T 16.~ ~-ITTQ i? 

How is consumer surplus measured? 

OR/~I 
r-
LO 

\1Q'lt)ffil if"f@" cffl' Wcffi "fl lfTQT ufT 'ftcf>di -68 
UNIT- Il/&cf>li-Il 

7. • • Explain the Law of Diminishing Marginal Utility. What are its limitation~? 

8. 

lltt'1M =a)iikt \i4mfllttl Pl~ii 'iffl' tt+fSUii(? I iitt~. ~'11~ ~? 

OR/31\!141 

Decompose price effect into income and substitution effects. 

ci>liitt <ffl" amf WTicJ -q fcl'.im 4'8N I 
t----
l.O 

UNIT- m1~11-m 
. . ' co 

Discuss the short run cost concepts. • 

3R:,q cf> icl'\ .=t c1 I• id cum ctfr TftU cf;)R;,q I 

OR/~ 

How are price and output determined under perfect competition in short run? 

~@fcf>fot "if 1i11f uf?t4)fl] di q\- at.:tt•ftt ~'id GNRf cf>T Qcf>N mffl·· t? 

UNIT-IV /&cf>IS-IV. 

9. Explain price and output determination 'by a mono. in short run. 

qcf>,~cf>I~ 3foQcf>lcl "if cGl'id-\it<d~ ~qTT tt'1$tl~~ I 
,r--
(.C) 

OR/3iliill 

Define monopolistic competition. Descljbe the long rut) equilibrium of a firm in this market. 

t.?c61~ct>Fc1fflct> wRl<lifllc11 <ffl" -~ c6lltt~ 1 -q. 16 Glef4>1R:t4> tigcl..., cffl' 

'fl'1$1 I ii W.: I 
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' 
1. (i) 

PART-A/"l'PT--31 

Name the different types of graphical representation of data. 

3if<t>~ -UJ~U f;l'()qay c6 e1ftct>1 c6 .=fTlf I 

. (2) 

(i!) Freque~cies of fiv~ valu~s of a variab~e are· 3,5,7,4 and 2. Find its corresponding relative 

e £ E f\ iauencies. , , , _, --· c21 
~.:~ m.=tl 3,5,7,4 am 2 t I ~;:ic:6t ct,R~ I 

• (iii) The aritlufletic mean of two sets are 10 and 15 with number of observations 100 and 200 
• '\ ( A / 

\ 
\ ' I ' • • • 

respectively. Find combined mean of two sets. 

100 200 Wfl0n c6 tt'11;et.'{ w'1~1= • 10 15 i I GF11 q;J ~gcffi . . . 

(iv) ~If the first ~d second non-central moments are 4 and 25 respectively, then find coefficient of 

variation. 

rad)~ ra~~<f3tl'{'l~ -~ 1=JFf sf,Ji~I: 4 25 i I QtN°1 ~ 0 1icf> .c61Ri\~ \ •. . : . 

(v) For a moderately skewed distribution, give relation between mean, median ~d m~e. 

fc\'4¥\dl cfsl> ~; q1fG4q;1 il§clc6·_ ~- '(ifit.U R;i i 

' 

S02S 

(vi) Differentiate between linear and non-linear trend. 
. 

~«'I~· am at~«'I~ eq;:ifc'i -q an=R cf>R~ I 

(vii) Write down all the positive class frequencies'in case of three attributes A, B and C. 

(viii) Write the relation between correlation coefficient and regression coefficient. 

=tisti~~ !!°lief> '@Jr~ 1,01i<h1 c6 Gfrq ~Rs.~ I 
•, 

(ix) • What is the scatter diagram? 

(x) Define nominal scale. . 

2 

(2). 
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2. 

3. 

4. 

(i) 

(ii) 

(i) 

(ii) 

· PART-B /1WT-il' 

. Unit-lf&cf>ll-1 

·){/ti· 

What do yo~ mean by frequency distribution? State the principles to be observed in 'its 
fonnation. • 

. •u-<41i•«u ~a-<0 , aTN tti:t~a "ff? Pti:tf 01 1,44cm cf@ Rtcaim q)f '3w\~ 

c:tfl~Q I 

Describe frequency polygon and histogram. 

ill~~l-<dl ~·oerr cf;T qOA ·c(>)Rttq I 
' 

OR/31'ffi • 

Describe different parts of a table. 

. . . 
Explain method of constructing cumulative frequency curve wi!h example. 

'8-q~ c8f> cf;T '3Gl6.'<ul 'tt~Cl cruf.:r c6\Jtjjl) I 

Unit-2 t ~ct>l$-2 

Define mean, median and mode of a frequency distribution and discuss their merits and demeri!S· Show 
that algebric sum of deviations from arithmetic mean is zero. . ' , " . , ' 

isll-<ill'<c'fl 'ct ~. .isi§~.<t> cf\Ritti 'T1T-~ q){ . . . 

·• • OR/31'fcU 

(i) Define central and non-cen~ moments. Establish relationship between non-central and central 
moments·. 

(ii} 

<6~~ afR ~l~O. cm qRii1~a c:tflftjjl) I -faca~~ ca-it)~ a11qun tt41~ 

c:tflft,l) I .. 

What do you mean by Kurtosis? Explain leptokurtic, mesokurtic and platykurtic. 

tg<!iGdl 3Tfq <flrf tt'1$1d "ff? cwlt<:~~~q;, _'l·tt"1~~cf> ah c:J\fetg~cf> ct>T tt'1$11!i~ I 

Unit-3 / Scf>li-3 . 
Explain the method of least squares for curve fitting. Fit a second de~ curve and power curve t~ data. 
crit> 3tl't1Gt;, ct>-~ ;.q:_~ctii fctiu cf>T -H'1Stliiti I 311'l ft8t~ cffl> lllcR <ffl> cm- tt+i<t>l 

-q 3ll'8"1Plct cJRIT? 
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5. 

(i) 

(ii). 

(i) 

(ii) 

-• - GD 

. . 
0R/3114cil • C 

Find Yule's coefficient of association between atf:Iibutes A and B, given that -

(A) = 80 (B) = 75 (AB) = 50 N = 145 

A 3ITT B iftlstllf 1°1icf> ~.· TJm t -
(A)= 80 (B).= 75 (AB)= 50 N= 145 

What is dichotomy? Explain with example. Show that for n attributes each when dichotomized, 

the total number of class frequencies is 3° . • 

~q,ff<t>~0 , ctm t? '"34gcm. '"3Gis~o, '8'1$11~J:) t n -8~'4 -ij ttfl)<f> 

1J11T ~q 4ffq,~o1 'ITT, ID ~(!foU&J:) cJtf isll~isll~ai3IT 3° mlft I 

Unit-4 / ~cf>l(-4 

Define Karl Pearson's Coefficient of Correlation. Show that it is independent by change of 

origin and scale. 

c5 t16t1!-i'.\:J ~I0 ti4> cf))- cGlfttll I ~~cll~ll fcp- ~. 

w -81d-:::i ITTffl" t1 

LJefi.ne rank correlation coefficient. Discuss its usefulness. 

OR/3l'fiff 

What do you mean by lines of regression? Find the ~xpression for the regression coefficient in case of . 

• two variables. State properties of regression on coefficie9t. 

----------------------------------
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1. Define the following -
~S41~R~H1 q;)' c61fti~ -

(i) 

(ii) 

Change in quantity supplied 

-q -qRqJ., 

Positive Economics 

~q,1-<ic+lcl> .-·l , f{ e t: i! 
• (iii) Market Demand 

(iv) 

iltGil~ llT71" 
Budget constraint line 

( v) Indifference curve 

~qsp 

(vi) Explicit costs 

~c4 <Rf c-f I~ I d 
(vii) Break-even point 

c-ff'J,~ 

(viii) Shut down point of production 

\i~lG~"ii°G~~ 

(ix) Excess capacity 

atffiRcm 

,. 

PART-A/~~ 

(x) Kinked Demand Curve Hypothesis 
fclcttR:lct clw 4RctfoG.=tl .:, 

PART-B /1WT-"if 

2. Define the Law of Demand and its determinants in detail. 
~~~<ITT 4Ritl~ct cnm fcltji:MT c6i~f~ I 

3. Briefly explain the Law of Diminishing Marginal Utility. 
&l'tll-fl-i ~'-lict G44)fl'lc11 <ITT -q fcl-R!ct c61fti~ I 

4. Discuss the Cobb-Douglas and C.E.S. production function. 
c:ffi"iJ-,s4lcl'ti 3ITT ~.t_~. Gt<tl<t.=t clft fct~i:MI c61ftt~ I 

S. What are the sources of Monopoly? 
~cf>l~4Hx 76 cfltI t? 

3413 2 
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6. 

-

7. 

p ART-C /1WT-lf 
Unit-1/)4>1!-1 

. d bn' efly discuss the central problems of an economy. Define Econonucs an 
cm ttRit,~tl $1ftn'{ qft t1'H4i31T cm cGI~~ I 

OR/~ 
' 

Elucidate the vari~us concepts of elasticity and their measurement methods. 

cCl 3tR ltm qft cITT Fc\-«!d $1~<: I 
Unit-2 / gc61§-2 

Elaborate the decomposition of price effect into substitution and income effect (in the case of normal and 
Giffen goods). 

q>) 3tR WTiq Ti ~11cffi fcpm W 'ficf>c11 !? ~~iMI $1ftt<: I 
(-81+\l--4 afR: • <ti" -q) 

OR/~ 
Write a short note on the following -
(a) Consumer Equilibrium (b) Water-Diamond Paradox 
Pv--1~f&c1 "C{x fe04Jf\ c61Rit~ -
(a) (b) 

Unit-3 t ~cf>l§-3 
S. Ex.plain the Law of Variable Proportion. Which stage is considered to be the actual stage of production? 

qRqct1~c1 -:S\'f{lffi <ITT ct\Rii~ I 0cq1~1 ctr tji·R1~cp fcRT cITT 1fAT \ifrnT 
t? 

OR/~ 
State the features of perfect competition and explain the short-run and long-run equilibrium of a perfectly 
competitive firm. 
1r7f 1,jffi~m c$ <'fafUT 6'C11~~ am ~-1,lRi~tff 'Cf5lt c$ '1ft'9cf>1Ji-1 cfl'4cf>,~'1 cm ~-«1c1 
c6)fG!q I 

Unit-4 f §cf> I ;{-4 
9. Does there is an existence of supply curve under Monopoly? Elucidate it Also elaborate the Lerner's Index 

of Monopoly Power. 
emf <ti" 3ffi1@ c1sp lTTm ul1cIT !? c6\Rii({ I Wffi 
'1-qcf>icf> "cf>1" 61c11&C: I 

OR/~ 
Write a short note on the following -
(a) Characteristics of Oligopoly 
(b) "Price is greater than marginal cost under monopolistic competition." 
Pf4-1~Rs{ c1 'qx R.~Jn «6\Rii({ -
(a) cCf fctitt4dlcy /~ 
(b) ({4>1~<fW<lc'icf> ~Rttll~ <ti" 3ffi1@ cCrlffi ~+iid m1Td' tr 

3413 3 
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1JJ1T ar il err 3Tq; c6 10 3lfcf' xs=t,~~ (20 ~) ~Pfq14 ~, 41<ffist>+i f\ ~uf?\<.>1 /"tffiS 

c6 ffi, aiR 31jl441'n tR 311~1Rd t I 
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each unit with internal choice. Each question will carry 15 marks. 

1JJ1T cf} lf.i cffl' -ml 2-5 ~cf>I~~ q ~''ilftitd I ~idRc6 ~q;~ <6 qu1f-1lc+1<6 

ffl t I 15 ajq; cf>T t I 

t 1. 

3414 

(a) 

PART-A/qpr--31 

If A= (3, 5, 7, 9, 10}, B = (7, 9, 10, 13} & C = {10, 13, 15}. Find [AnB] n [BUC]. 

A= (3, 5, 7, 9, 10}, B = (7, 9, 10, 13} am C= (10, 13, 15} t, ffl [AnB] n [BUC] Wei' 

ctflftil<: I 

(b) Let A= {2, 3, 4, 5} & B = {7, 9, 11, 13} & let f = {(2, 7), (3, 9), (4, 11), (5, 13)}. Show that f is 

invertible & fmd f 1 

lJFf ~~<: A= {2, 3, 4, 5} aTR B = (7, 9, 11, 13} am lJR ~RitQ f = {(2, 7), (3, 9), (4, 11), 

(5, 13)}. ~t!JIIQ ft; f ~tam f 1 WcJ cfR I 
/ 

1 
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(c) 

(d) 

·. (e)· 
i • 

Find h'(x), when b (x) = (x3 - x) (5x4 + x2). 

vfil h (x) = (x3

- x) (5x4 + x2

) 1ft, m h'(x) Wcf ~ftiQ" I 

Given: Z = x3 e2y. Find all the partial derivati·v f es o second order. 

"1flIT- Z = x3 e2Y, SP+l 3li~lcf> ~<h&Nf Wcf ~ftiq I 

d dy f th fun • · 3 _ \' rm dx o e ca.on. ax + bx2y + cxy2 + d = 0 
. dy 3 e&otra 4>~1~ q;T dx ~"' : ax + bx2y + cxy2 + d = 0 

2. 
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(f) 

(g) 

If y = (-2x2 -+ 4x + 1), then find the area below th be e curve tween x = 0 & x = 2. 

y=(-2x2 +4x+ l)t, m x=OafR x=2~ cfsl> '<hT tff3J ~ftiq I 

Integrate the following -

f 8x2 (3x3 - 1)16 dx 

~kiffil a <ffi" ~<61ci,a ctR - -
f 9x2 (3x3 - 1)16 dx 

(h) Define diagonal & Idempotent matrix with examples. 

~<t>uf Ptf?a>;q ~~cR-1 cf>1" '3Gl6x0 1 qR~l~d qR 1 

(i) GivenA= [_! -;]. computeA-1 &showthat2A-1 =91-A. 

G) 

(a) 

'1J"llT A= [_! -;], A-1 ~1°1~1 <fR am ~'811\? 2A-1 =91-A. 

1:. 
1 1 

Evaluate- b C 
b2 c2 

11 
1 1 

'i.~"•tli<t>~ - b C 
b2 c2 

PART-B /1WT-if 
Unit-1 /§<f>li-1 

In a survey conducted of 1000 teachers in Udaipur, it was founded that48% preferred coffee (C), 

54% tea (I') & 64% were smokers (S), 28% took coffee as well as tea, 30% took tea & also 
smoked & 30% were smokers & coffee users, 6% did none of these; 

Find the numbers -
(i) using tea, coffee & also smoking 

(ii) took only coffee & 
(iii) smokers taking tea but not coffee 
'1G4~'< 1000 ~lei<hl -Hclei17f °ff tnm 7lm fcl> 48% q;rqft tffiG q;W ~. 54% "qflJ 3ffi 
64% fi~NM cf@ ~. 28% W q;lqft "qflJ ~. 30% "qflJ 

~~41--1 qffi)" 30% ~i;t4l--t qffi q;lqft eq~~ 1 1 qffi)" tQ", 6% -l xl 
cg9"~~~,msm-~-

(i) 

(ii) 

(iii) 

~. <l>Ttlfr '<hT 1fi 
q;rqft 

f.1~41--1 qffi fil W -g clfcl>--t 

2 

[12] 



(b) 

3. 
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(a) 

Find & interpret the slopes & intercept of the following straight lines -
(i) C = 55. 73x + 182000; which is the estimated cost function for the US Steel Corporation, 

over the period of 1917-1938, where C is the total cost in dollars per year & x is the 
production of steel in tons per year. 

(ii) q = -0.15p + 0.14, which is the estimated annual demand function; also determine 
nature of the commodity. 

f9t.1Riifad <ti 3ITT &c1x)~ q;l 3ITT &U&i cfR I 
(i) C = 55.73x + 182000, \if! 1917-1938 cil\ C6 aii'1R<tl\ i;~ld f.rrl>r <ti 

31:l'ilf.li! oll1Ti! qj<f.11'1 t ;Jfflli C \"ITTll qi{ <ffoR it "iff<, <iil'li! aft'<- x \"ITTll q,f c'f it 

(b) 

(a) 

;;::, 

\i~IG'1 ti 
(ii) q = -0.lSp + 0.14, \if! 31:fill'lli! <ll~<li 1'ff'T 1jjW1 t. cil\ 'lfi f.'tel!Ri! qi~i!i 

t, 
OR/3lt4ql 

Find the demand & supply function, if _ 
Price Demand Supply 

so 2 40 
6 20 60 

11P'f q'ttffi $1Ri\({, ~-

1ffel 
2 

6 

Solve it-

40 

20 

50 

E?O 

(9x;2) + (:~::) = (6X;1) 
c6lruic: - (9X-2) + c•x2-7) = (6x-1) 

3 4xz+3 2 

Unit-2 /§cf>li-2 
Suppose a tot.al variable cost function is c = Q3 _ 3Q2 + lSQ Ex • average cost functions. • amme the general marginal & 

+!'Ff ~Ri!Q f<l; qRqJ1)~ mrIB q;~,-1 C = Q3 - 3Q2 + lSQ t ..,..,.,...__ ... .;,\.... 'b<r.!H <IR I • '81111'<1 '°''" Ba <ill'li! 

(b) Find tbe tot.al differential of z = .J 3x2 + y2 . 

Z = .J3x2 + y2 <ITT 31cR ffl cfilfti~ I 

0R/31'ffl 
Theprod • uction function of a commodity • • b 1s given y-
Q = ( 40F + 3p2 F

3) - 3 ' where Q is the total output & F d • th • • (i) p- d th epicts e umts of mputs 
1D e number of units of input r • ed • {ii) Find th . eqwr to give maximum output 

e maximum val f • • (iii) V . ue o margmal product • 
erify that when the average product is m • • • =--.-.~ aximum, it is equal to marginal product 

., -~ <ITT \i~IG'1 Q = ( 40F + 3pz - F3) t • qi)- G~lli!l t - 3 , u!ITT Q '!);c'T '3i<ll<:'1 t }' 11'19,C i;<lil~,ii 

(i) 

{ii) 

(iii) 

3 

[3) 

[10] 

,ll 

[SJ ,n, 
.. 

1a 

[10] 

[S] 

[15] 

[P.T.O.] 



5. 

Unit-3/~ct>l4-3 

4. Suppose the supply function for selling x units is given by the equation: S(x) = 250 + 5x; the demand 

function for x units is given by: D(x) = 1000 - lOx. Find the producer & consumer surplus & explain what 

they represent. 
[15] 

llFf <>11Rit~ 4>~1~. x ~ct,l~lli '{"i~ct,-<01 6RT Tft S(x) = 250 + 5x lfrT 'Cp"c¥f 

D(x)=1000-10x, \'3{-GIGct, ~~cf>T'C@T~ ~iffint fcp cff cflJT~i1 

0R/31'ffi 

The additional cost (in lakhs of rupees) of producing a motor car is given by 6 + 4x2 + l.5e-x, where xis 

the quantity produced. Determine the total cost of producing 5 motor cars if the fixed cost is f 7 lakh & if 

e-5 = 0.006 

<J;R "3~1<F'I '1lffi~cm i) 6 + 4x2 + 1.Se•x, x \'3{-Gl~a +JT?IT t I 

wcr qR" s m "3{-GIG~ cflJT f.w-lH~a mlffi ,1 3ffi 

e·S = 0.006. 

Unit-4 / §cf>lt-4 

(a) Prove that - la+ b~+ 2c a 
b +c+ 2a 

a 
: I = 2 (a + b + c)3 

(.b) 

/

a+ b~+ 2c a 
c6lf0t~ - b+c+ 2a 

a 

Find fue inverse of U - -i] 

c+a+ 2b I = 2 (a+ b + c)3 

c+a+ 2b 

u -~ -H <I>! '4cili'1 SI@ ill)ft,~ I 

0R/3l@.iq1 

[15] 

[51 

[10] 

Solve for x, y & z from the following set of equations using Cramer's rule & inverse matrix methods _ [15] 

• X - 2.y + 3z = \ 

3x.:..y+4z=13 

: 2xify-2z='(-1) 

a1R <2jtit5+1 ~~<ffi <ITT \-3441'1 Pl~ffit~ct tt4ht5'<0 ri x, y atR z ct,t 6<'f qR I 

I x-2y + 3z= 1 

3x-y +4z = 3 

2x + y - 2z = (-1) 

----------------------------------

3414 4 
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